Y pcal Calibration Parameters (2025-06-19)

V_Tx1 bg:

-0.003811 * 0.001346 (-35.33%)
V_Tx2_bg:

-0.003682 * 0.001346 (-36.56%)
V_Rx_bg:

0.000073 + 0.000063 (86.78%)
V_Tx1 _bg_true:

0.014834 + 0.001346 (9.08%)
V_Tx2_bg_true:

0.017335 + 0.001346 (7.76%)
V_Rx_bg_true:

-0.004829 + 0.000063 (-1.31%)
apha RxPDpWSK 1.

0.127659 + 0.000180 (0.14%)
apha RxPDpWSK _2:

0.126262 + 0.000129 (0.10%)
apha TxPD1pWSK:

0.705912 + 0.000708 (0.10%)
alpha_TxPD2pWSK:

0.261216 + 0.000200 (0.08%)

e 1
0.981374 + 0.001649 (0.17%)
e 2
0.973734 + 0.001117 (0.11%)
SP_1:
ca_SP P norm:
0.501205 + 0.001085 (0.22%)
ca_SP V_norm:

0.504729 + 0.000750 (0.15%)
SP_RxPD_norm_dan:
0.503740 = 0.002379 (0.47%)
SP_2:
ca_SP P norm:
0.498795 + 0.000897 (0.18%)
cal_SP V_norm:
0.495271 + 0.000725 (0.15%)
SP_RxPD_norm_dan:
0.496260 + 0.002379 (0.48%)
G2:
0.510748 = 0.004847 (0.95%)
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